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| The probability of selecting a ten of spades from a deck of 52
well-shuffled cards is

1 12

A 53° C 55"
=2 5L,

B 55 D 52

2. ' When a card is drawn at random from a full pack of 52 cards, the
probability of drawing a spade 1s

AT ¢ =
Bio%—. b i
3. A card is drawn at random from a standard pack of 52 playing cards.
What is the probability of drawing a red card or an ace?
AS—S cﬁ—g.
Bg—g Dg—g
4, A card is drawn at random from a standard pack of 52 playing cards.
What is the probability of drawing neither a red card nor an ace?
- c-g—g

5 Assuming that, in a very large sample of women who have only twe
children, the probability of having a girl is the same as the
probability of having a boy, what is the probability that a
mother in this group has one girl and one boy?

A c

= noj

B D

wi =i

fs, Three fair coins are to be tossed and the outcome observed. What
is the probability that the outcome will be 2 heads and 1 tail?

A

ool

3
)
1 2

7. A pair of unbiased dice is thrown. What is the probability that
the sum of the numbers uppermost is 10?

A o]

B D

R A
s Bl



8. In a game called cross-lotto, players arrange in a row, 6 digits
chosen (with replacement) from {0, 1, 2, 3, 4, 5, 6, 7, 8, 9}.

To decide the winner, six digits are drawn from a barrel (with
replacement). What is the probability of a single entry being

correct?
1 1
A 60 ¢ 610
B 2 D . neither A, nor B, nor C
10°
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iI0. X and Y are ihdependa4+ events of the sample space S,

Which one of the following diagrams best illustrates the
relationship between X, Y, and S?

A .
S

)

®

l{, Which one of the following tables is consistent with y varying
directly with x?

A x| 1 2|3}l °© x |2 > | 3| &
y 4 3 2 1 y 3 6 9 12
3
B x| 1|2 |3 |u] P x | 1 > | 3
T 1T 1
y 1 4 9 16 y 1 5 § TJ-J




I&.  Which one of

the following graphs illustrates y varying directly
with x?
A [
Y Y
l r 3
B b )
y Y

13.  Which one of the following graphs best illustrates the change
in water depth as a spherical container is being filled with
water at a constant rate?

A c
Ar Ar
water water
level level
> —>
time time
B D
? Yy
water water r
level level
> —>
time

time



14, Which one of the following graphs could represent the relationship
between x and y, where xy = k and k is a constant?

A Y 4 y
wx
8 Y D Y
L 3
_——_‘T_—’X %Ax
IS In the travel graph, which one of the

three forms of transport has the
greatest average speed?

A train

B car

C speed boat distance(km)
D

All have the same speed.

time(h)

. Wnich one of the followirig tables is consistent with y varying
inversely with x?

A x |12 |3 ual © x |1 ]2 |3 &
vy {43 211 vy | 316 |92
B x | 1] 2 ]3| af P x| 1|2 3] u
v 1 4 9 | 16 y | 12 6 4 3

X 2 4 6 8

y 0 1 2 3

Which one of the following rules describes all of the pairs
(x,y) shown in the table?

A y=%—x—l C y=x-2

B 2y =x -1 D 2y =1-x



18 - The container shown is placed under a tap from
which water is flowing at a steady rate.
’ Select, from the key, the graph
which best shows how the water level in the container changes
with time if +he. container is empty at the start.

f . ¢

water water

level leve| .
.L__Vﬁme time
T ® >

water water

fevel level

time time

|7; The distance-time graph shown describes the motion of a model
train along a straight stretch of track. The train is initially
travelling forwards.

dktance(nﬂ"

v

T

0 ] 2 3
time(s)

F
o

Which one of the following statements is false?

A The portion of the graph labelled QR indicates that the
train is slowing down.

B The portion of the graph labelled PQ indicates that the
train is stationary.

C After 5 seconds the train is back to where it started.

D The sPied of the train for the first two seconds is
1 ms™t.
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A road can carry N cars at an average speed of S km h .

The following limits apply:

If the number of cars is greater than 1200, they cannot move and
S = 0. If the number is less than 600, S = 50. As the number
of cars decreases from 1200 to 600, S uniformly increases from

0 to 50.

The graph representing the relation between S and N is

A B C D
S S S - S
A A A
504 50 504— 50
1 N J =< N N
0 600 1200 0 600 1200 0 600 1200 0 600 1200

The volume (in cm3)>of a right circular cylinder of base radius
5 cm is directly proportional to its height (in cm). The constant
of proportionality is

A 5. C 25w,

B 5m. D 257w

X 1 2 3 h 5 6
y 2 11 26 47 Th 107

For 1 € x € 6, x an integer, the function whose rule is
illustrated in the table is y=

A 3x°. ¢ x3 4+ 2x - 1.
B x° + 6x - 5. D 3x° - 1.
2ab + h2
If P = = then
A 1% =2p - 2ab. C h = 2/ab = B.
B h = 2ab - 2P. D h = 2/P - ab.

If the formula P = mR(R + k) is transformed so that k 1s the
subject, then

P
pox- L C k= g7
D k = E"— R
B k = P - nR - R. = R .

Which one of the following can be used to find x from the

= Y%,

formula ¢ = ek
A x = cd c  x = cd
2.2
B x = ved D x = c d
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